
ACAX250-01
tôle AV

quantité 1

ACAPSA07
caoutchouc 80x6
lg 1350

quantité 1

ACAPSA02
cale 80x90x3

quantité 4

ACAX250-02
fixation AR DT

quantité 1

ACAX250-06
fixation AR GH

quantité 1

ACAPSA08
caoutchouc 80x6
lg 50

quantité 2

Boulonnerie interface :

- 4 vis TH M8x20
- 2 vis TH M12x65
- 2 vis M12x130
- 4 rondelle contact M8
- 6 rondelle belleville M12x34x1.5
- 2 écrou nylstop M12

Fiche d'instruction Réf. :
I.EXP.02d

Composition du KIT INTERFACE ACAX250Date : 
18/05/18


	Feuille1(2)
	Vue de mise en plan22
	Vue de mise en plan23
	Vue de mise en plan24
	Vue de mise en plan25
	Vue de mise en plan26
	Vue de mise en plan27


